Homework 5: Turkish

Your task of this homework is to provide an analysis for the Turkish data given below.
Please follow the instructions — they are meant to be helpful.

The consonant and vowel inventories for Turkish are given in Tables 1 and 2. Geminate
consonants (e.g., tt, tt]) have the same features as their singleton counterparts except that they
are [+long]. You should treat them as one consonant, not two. The vowel inventory is
completely symmetrical, and you should use the [back], [high], and [round] specifications as
given in Table 2. Long vowels (V:) are [+long].

Bilabial Labio- Alveolar | Palato- Palatal Velar Glottal
dentental alveolar
Stop p, PP t, tt tf, ttf k, kk
b, bb d, dd ds, dds 9. 99
Fricative f, ff S, SS I, J
Vv, VV Z, 77 3, 33
Nasal m, mm n, nn
Approximant T, IT ]
Lateral 1,11
approximant
Table 1. Turkish consonant inventory
[-back] [+back]
[-round] | [+round] | [-round] | [+round]
[+high] i, it y, yi w, w: u, u
[-high] e, el ?, o a, a: 0, O

Table 2. Turkish vowel inventory

(a) List the allomorphs for the affixes shown below. Propose underlying representations for
them, and provide two phonological rules that result in the alternations shown. You will find
that there is some indeterminacy in the choice of underlying form. Any choice that works is
fine. Please bear in mind that although just three suffixes are given, Turkish actually has
many suffixes and they virtually all alternate this way. So be sure to express the rules in a
general, phonological way.



AR

Nominative Accusative Genitive Dative Gloss

hep hepi hepin hepe ‘the whole’
tfent tfenti tfentin tfente ‘a few’

kik kiki kikin kike ‘skiff’
tfenk tfenki tfenkin tfenke ‘hand’

ev evi evin eve ‘house’
fev fevi fevin feve ‘slope’
deniz denizi denizin denize ‘sea’

tfin tfini tfinin tfine ‘China’

el eli elin ele ‘hand’
hap hapw hapwn hapa ‘pill’

. at atw atwn ata proper name
sat] satfw satfwn satfa ‘hair’

. hatf hatfw hatfwn hatfa ‘cross’
fusk fuskw fuskun fuska ‘sin’

. av avuw avun ava ‘hunting’

. hwz hwzw hwizun hwza ‘speed’
ajvaz ajvazu ajvazun ajvaza ‘steward’

. wrwp wrwpuw wrwpwn wrwpa ‘large fishing net’
yn yny ynyn yne ‘fame

. koj kojy kojyn koje ‘village’

. gok goky gokyn goke ‘sky’

. on ony onyn one ‘front’

. son sonu sonun sona ‘end’

. fol folu folun fola ‘nest-egg’

. kurt kurtu kurtun kurta ‘worm’

(b) An additional rule can be seen applying here. State the rule and underlying forms for these
stems. Justify the direction of the rule that captures the stem alternation (why A — B, not B
— A, for an A~B alternation). Does this rule need to be ordered with the rules in (a)? Make
surethat you do not lose the account for any of thewordsin part (a).
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dip
prensip
ferit
damat
tat]
ui]

gyif

dibi
prensibi
feridi
damadw
tadzw
udzu
gydsy

dibin
prensibin
feridin
damadwn
tad%um
udzun
gydsyn

dibe
prensibe
feride
damada
tadza
udza
gydse

‘bottom’
“principle’
‘tape’
‘son-in-law’
‘crown’

‘tip
‘power’

b
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renk rengi rengin renge ‘color’
mitink mitingi mitingin mitinge ‘political meeting’

(c) Another rule: follow same directions as for (b) above. Justify rule orderings, if any.
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hat hattw hattwn hatta ‘line’

hak hakkw hakkwn hakka ‘truth’

af affw affun affa ‘pardon’

his hissi hissin hisse ‘feeling’

zam zammuu zammuin zamma ‘price increase’
fer ferri ferrin ferre ‘evil’

af affw affun affa ‘pardon’

hat haddw haddwn hadda ‘limit’

rat raddw raddun radda ‘rejection’

hat haddzw haddzwn haddza ‘pilgrimage’

(d) In Turkish, long vowels are separate phonemes, occurring in words like [ga:zi:] ‘warrior for
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the Faith,” [bera:ber] ‘together,” and [te:sir] ‘effect.” Determine the underlying forms of the
words below and account for their behavior with an additional phonological rule. Again,

justify the direction the rule that captures the alternation and any necessary rule ordering.

temjiz temji:zi temji:zin temji:ze ‘discernment’
halas hala:sw hala:swn hala:sa ‘deliverance’
hajat haja:tw haja:twn haja:ta ‘life’

zaman zama:nw zama:nwn zama:na ‘time’

mal ma:lw ma:lwn ma:la ‘property’
tebdil tebdi:li tebdi:lin tebdi:le ‘change’
tedzhiz tedzhi:zi tedzhi:zin tedzhirze ‘equipping’
telif teli:fi teli:fin teli:fe ‘compromise’
harap hara:bw hara:bwin hara:ba ‘ruin’

tedip tedi:bi tedi:bin tedi:be ‘punishment’
tadat tada:dw tada:dun tada:da ‘counting’
tedzdit tedzdi:di tedzdi:din tedzdi:de ‘renewal’

(e) In some of the data below, there is an alternation between vowels and zero. A few pieces of
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data from the previous sections have been repeated here to help with your analysis.
Determine the underlying forms, and state the rule responsible for the alternation, justifying
your answer fully. State how the rule formulated for this section must be ordered with
respect to the rules you formulated for the preceding sections, and justify your orderings.

ilim ilmi ilmin ilme ‘science’
1sim ismi ismin isme ‘name’
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ibin
karwn
burun
kojun
vezin
defin
tuafual

akul
vasul
gonyl
fehir
devir
fuutwr
pakt
sart
fjent
gark
ilk
tfenk
fuusk
renk
mitink
sarf
iks

irs

ars
gorym

yzym
sarwm

1rin
wfwn
fuarun
odun
orun
1dil
fuzul
satwr

ibni
karnwx
burnu
kojnu
vezni

defni
twflua

aklw
vaslw
gonly
fehri

devri
furtrua

paktw
sartw
tfenti
garkw
ilki
tfenki
fuskw
rengi
mitingi
sarfur
iksi

irsi
orsy
gorymy

yzymy
sarwmuu

irini
wwnw
fuurwnw
odunu
orunu
idili
fuzulu
satwruw

ibnin
karnwn
burnun
kojnun
veznin

defnin
tuwrflun

aklun
vaslun
gonlyn
fehrin
devrin
futroun
paktun
sartwn
tfentin
garkuin
ilkin
tfenkin
fuuskwin
rengin
mitingin
sarfun
iksin
irsin
arsyn
gorymyn

yzymyn
sarurmun

1rinin
wfwnwn
fuurmnun
odunun
orunun
idilin
fuzulun
satwrwn

ibne

karna
burna
kojna
vezne
defne
twfla

akla

vasla
gonle
fehre

devre
fuutra

pakta
sarta
fjente
garka
ilke
tfenke
fuska
renge
mitinge
sarfa
ikse
irse
arse
goryme
yzyme
sarwma
irine
wfwna
fuurwna
oduna
oruna
idile
fuzula
satwra

‘son’ or ‘faggot’)’
‘abdomen’

‘nose’

‘bosom’

‘meter’

‘burial’

‘infant’
‘intelligence’
‘union’

‘heart’

‘city’

‘transfer’
‘breaking of a fast’
‘pact’

‘rope made of reeds’
‘a few’

‘drowning’
‘beginning’

‘hand’

Coies

sin
‘color’

‘political meeting’
‘expenditure’

‘x (in algebra)’
‘inheritance’

‘anvil’

‘sight’

‘grape’

‘bandage’

‘pus’

‘gleam, flash’

‘large oven’

‘firewood’

‘place’

‘idyll’

‘silly meddlesome man’
‘large knife’

(f) If you hear the hypothetical form [ep], what are the possibilities for its underlying
representation? Explain your answer.
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